Amplitude

0 W(miz2s)[ts - ps]

1*s W(ma23)[ts - qa]

1tD W (m123)[ps(ts - p3) — 5(Ps - Ps)ts] - qa

1~ BW(ma23)[(ts X ps) - 4]

2°p BW (ma23)[5 (t3p5 + t5p5) — §(ts - p3)8] - [gha — 1qal?6"]

2°F BW (mi23)[(ts - ps) (pp} — §|ps|*6")] - [did] — §ga|*5"]

2t BW (1m123)[5[(ts x ps)'p} + ph(ts X ps)’] — 5[(ts X ps) - ps]6” - [giq] — 3lqal”6"]
3" BW(mm)[(ts X ps)'pips + (ts X ps)"pipy + (ts x ps)’pips) -

$[6% (ts x Ps) + 5“6(’53 x p3)’ + 67%(ts x P3)I]|p3| I
L1 (paplpk + pipipl + pipipk) — pi(6Y Pk + 6% p] + 677 ph)]




